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NC11 EQ4
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0 4 o PHO @
6.9
6. 8
6.7
6.6
Warning: col ['FVOPH ] is missing

6.5 1 { 4 \ 4 . 4 4 \ 4 . 4 \ 4 @

2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0




Trend plot forEQ4AE_E2

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

minFVI
minFVO

N
o
I

ETcA2'] is missing

o ETcAlraw
—  ETcA1l
—&— ETcA

0.8

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0
1 1 1 1 . 1 1 1 1
: —8—  ECopt
4500 + 1 —o— ECC
1
| —o— ECI
4000 - i
| —o— ECO
1
3500 - :
3000 :
1
2500 - :
=g 1
1500 :
1
1
1 1 1 1 . 1 1 1 1
7.0 -
1
1
1
AN 4 !
6.5 — N — L 4 2 2 2 2 2 2 2 2 2 2 2 2 2 =2 X 2 2 2 4
1
1
1
1
6.0 |
1
1
1
] 1
5.5 |
: —8—  PHopt
: —®— PHC
5.07 i —e— PHI
| —e— PHO
1
1 1 1 1 . 1 1 1 1
31.5 : —8— WCperM
1
1
31.0 - i
1
1
1
30.5 1 I
1
1
30.0 1
1
1
29.5 :
1
1
29.0 :
Warning: col ['WCperMraw', 'WCperMavg'] is missing :
28.5 - !

0050 9—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0— 000000000000 000000000001

0. 45 -

0. 40

0. 35 A

0.30 -'+.+.—.+.+.—.—.—.—.—.—.—.—.—H—.—.—.—+—.—.—.—.—.+.—.—.—.+.+H+.+‘

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

]
]
0. 25 |
I
I

0.20 p—O0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—00—0—0 b 00000000 0000000000
1

1 1 1 1 . 1 1 1 1
—0—0—0—0—0—0—0—0—0—0—0—0—0—0—90—0—0—0—0—0— 0000000000000 00000
30 | —0—  begM
: —0—  maxM
98 : —0— minM

I
I
I
i 1
26 I
I
24 i
I
I
]
22 - i
I
I
I

209—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—

adjFVOR

-0. 02 ~

0. 04 1 Warning: col [ adjFVIRraw , "adjFVIR', "adjFVORraw ] is missing

_DOOOOOOO:.OOOOOO.......?Q.

0 5 10 15 20 25

30

35

40

1604 @ postFgEtraw
—O— postFgEtavg
140 4~ —@— postFgEt

120
100
80 -
60 -
40 -

20 A




FgDaily




v

PPFD

TTTTT

EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS

ESo

ETol

ETbal

pR

pVPD

PPFD

1.0

0.8

0.6

0.4

-0.2

-0.0

--0.2



700 ~ ) Y o o o0
600
%

500 ° %e o
S 400 - ® [
= ° °
(W]

300 - ® ®

o® ° °

200 -

e ¢ * 3

100 ® ®

ee® e ® o0& o
T T T T T T
° °
1800 - ° o0
Y (] ... @
1600 - g ° . °
o © ° o ®
1400 + e ©
s o o
o 1200 | ° °
° °
1000 + ) ®
° °
800 - ° °
600
T T T T T T
°
95 o ° ° . ®
24 - o ° ° ®
° °
23 [ 1 L ® °o®
. ® ® (]
- 22 ° °
21 - ®oe o ® o %
° e o
20 - o %
° °
19 4
°
T T T T T T
°
80 - ° °
° °
70 4
= e . ® o e
°® .‘ oo
50 Py e o
° ° ° °
T T T T T T
° ° °
500 - °® ° ° ° °
° ° ° ° °
400 + ° ° ° ()
° ° ° ° o0 o0 ° °
z 300 -
0 ° °
o ° ° ° °
200 - c ° ° % o o . .
100 ° ° ° °
4 ) ° ° °
[ & % °
@ ° ¢ o ® o ° @ ° ° ° ®
0 ® (] Y [ ® e O ® o0
T T T T T T T T T T T T T T T
° ° ° °
° ° o0 °
1 G (1) o O o ( X ] ) ) o (G
4001 ® . o % s. . 0o,
° ° °
4 ° o e _° oo ¢ LAY )
i ° ° v e ° ° ° °
3501 4 ° L) L ° e °
° ° ° ° °
3001 o e o e_ o ° ° ° ° ° ° o0
- ° ° ° ° °
° ° °
250
200 A ° ° ° °
® ° ° ° °
150 L T T T T T T T T T T T T T T T
200 400 600 1000 1500 20 22 24 50 60 70 80 0 200 400 200 300 400
ETcl ETol T RH VN |



1200

1000 ~

800

600

400 -

200 -

obs
Fit

0

50

100

150

200

baiA

baiB

1.0

0.3215

0. 0286

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

obs

1.0

500 -

400 -

300 ~

200 -

100 -

Fit vs obs: a=1.89, b=-168.47,

r=0. 87

1.0

100

150

200
Fit

250

300

0.8 -

0.6 1

0.4 -

0.2 -

0.0
0.0

0.2

0.4

0.6

0.8

1.

0



hour

:00

:00

:10

110

:10

110

:10

110

o S,
% S

§_

%,
gz

“
4

2

100

80

- 60

- 40



EQ4AE
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ET (ml/hr/plant)

EQ4AE_E2, Day=23 (2025-06-15)
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